
                                                                                                                

s

of the plate nut to you. Insert the nut into the pillar and turn it 
 the nut does not fall down from the pillar and fix the support 

                       

o

 

.

 

 of panels

 

W

 

eight

 

Suppor

 

t

 

angle

 

Le

 

v

 

eler

  

S

 

EIA

 

kg

     

36

 

95

 

12 (6 in pairs)

 

4

  

27

 

85

 

10 (5 in pairs)

  

36

 

90

 

12 (6 in pairs)

  

27

 

75

 

10 (5 in pairs)

  

2

 

90

 

12 (6 in pairs)

  

95

  

4

 

75

 

10 (5 in pairs)

  

85

    

Remar

 

ks

    

F

 

or add-in (the same as pro

 

vided suppor

 

t angle)

     

vy w

 

eight

 

Use this to load to a pair of suppor

 

t angle o

 

v

 

er 70 kg.

   

Use this to fi

 

x the r

 

ac

 

k to the fl

 

oor

 

.

    

Use this to hoist the r

 

ac

 

k.

    

ption

 

Quantity

 

OP01-KRC

 

OP02-KRC

  

2 2

4 8

le sems) 4 8

OP02-KRC

1

3

2

1

3

The KRC series Cabinet rack comply with JIS standard or EIA standard. 
Support angles  are included.

• The maximum allowable load of each pair of support angles is 70 kg.            
For heavier loads, use support angles for heavy weight (optional 
items).

• When assigning devices to be accommodated in the rack, fix the rack 
with the levelers to prevent the it from moving, and then assign 
devices so that the gravity center of overall rack is made as low as 
possible.

• The rack may fall by the earthquake. Take measures to prevent the fall.
• When moving the rack, raise the levelers up to the highest position. 

The rack may fall at a difference in level.
• To hoist the rack, raise it by means of the eyebolts (optional items).

Specifications

Options

Using Optional Item

■ OP01-KRC/OP02-KRC 
T

 
urn the surf

 
ace mark

 
ed a circle 

  

90 de

 

gree clockwise. Check that

     

angle with the scre

 

w

 

.

 

Model

 

H

 

H1

 

D

 

D1

 

Model

 

H

 

H1

 

D

 

D1

 

KRC363L

 

1835

 

1600

 

950

 

800

 

KRC1603L

 

1835

 

1600

 

950

 

800

 

KRC273L

 

1435

 

1200

 

950

 

800

 

KRC1203L

 

1435

 

1200

 

950

 

800

 

KRC363

 

1835

 

1600

 

800

 

650 KRC1603 1835 1600 800 650

KRC273 1435 1200 800 650 KRC1203 1435 1200 800 650

KRC Series

INSTRUCTION MANUAL
CABINET RACK

CAUTION

H

452

H1

D1

570 D

Base
Leveler

Unit: mm

Model

Allowable
max. load

N

kg JI

KRC363L

Approx. 300

KRC273L

KRC363

KRC273

KRC1603
3

KRC1603L

KRC1203
2

KRC1203L

Model Description

OP01-KRC Support angle

OP02-KRC Support angle for hea

OP03-KRC Base hold angle

OP04-KRC Eyebolt

No. Descri

1 Support rail

2 Plate nut

3 Screw M5x16 (Doub

OP01-KRC

2



 side, put the eyebolts to the rack.
    

ption

 

Quantity

       

4

    

4

 

USUI ELECTR

 

ONICS CORP

 

.

 

-3, Higashiy

 

amata, Tsuzuki-ku, 

 

Y

 

ok

 

ohama, 224-0023, J

 

apan

 

T

 

el: +81-45-593-7570

 

 

 

F

 

ax: +81-45-593-7571

 

p://www

 

.kikusui.co.jp/

1

2

■ OP03-KRC 
Put the base hold angles to the both sides (right and left sides or front and rear sides) of the

 
 

 

base of rack.

 

The base hold angle has a long hole for M16 on the bottom side. Fix the rack with anchor

 

 

 

bolts.

■ OP04-KRC 
Remo

 
v

 
e the hole caps on the 

 
top

 

No. Description Quantity

1 L-shape anchor 4

2 Bolt  M10x35 8

3 Spring washer  M10 8

4 Washer  M10 8

5 Nut  M10 8

Model

Fixing the right 
and left sides

Fixing the front 
and rear sides

W1 D1 W2 D2

KRC363L

670

450

270

1050

KRC273L 450 1050

KRC363 380 900

KRC273 380 900

KRC1603L 450 1050

KRC1203L 450 1050

KRC1603 380 900

KRC1203 380 900

Unit: mm

W1

D1

W2

D2

Location of anchor bolt holes 

Base of
the rack

Base of
the rack

2

3

4

1

5

Hole for M16Secure the rack with anchor bolts.

No. Descri

1 Eyebolt  M12x22

2 Washer  M12

KIK
1-1

htt


	Specifications
	Options


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


